



B.Com. DEGREE EXAMINATION - JUNE, 2008.

First Year

Bank Management
PRINCIPLES OF ACCOUNTING
Time : 3 hours
Maximum  marks : 75

Answer for 5 marks question should not exceed 
two pages.

Answer for 15 marks questions should not exceed 
five pages.

SECTION A — (3 ( 5 = 15 marks)

Answer any THREE questions.

1. Name the different accounting conventions. Briefly explain the convention of conservation.

PnUQ¯¼ß ©µ¦PøÍ¨ ö£¯›hÄ®. C»õ£zøu Gvº£õºUPõ÷u & GÀ»õ Gvº£õºUS® |mh[PÐUS® u¯õµõP C¸ — CzuzxÁzøu ÂÍUPÄ®.

2. What are the causes of depreciation?

÷u´©õÚzxUPõÚ Põµn[PÒ ¯õøÁ?

3. Raman does not keep a double entry set of books on 1.4.02 he had the following assets and liabilities.

	
	Rs.

	Stock
	20,000

	Debtors
	30,000

	Furniture
	5,000

	Bank
	12,000

	Creditors
	20,000


On 31.3.03 his position was as follows :

	
	Rs.

	Stock
	25,000

	Debtors
	45,000

	Bank
	18,000

	Furniture
	7,000


During the year he introduced fresh capital
Rs. 3,000 while he withdrew Rs. 8,000 for household expenses.

Find the profit/loss made by Raman during the year.

Cµmøh¨ £vÄ •øÓ°À Cµõ©ß uß PnUSPøÍ £µõ©›UPÂÀø». 1.4.02&À AÁ¸øh¯ ö\õzxUPÐ® ö£õÖ¨¦PÐ® RÌPshÁõÖ C¸¢uÚ.

	
	¹.

	\µUS
	20,000

	PhÚõÎPÒ
	30,000

	AøÓP»ß
	5,000

	Á[Q
	12,000

	PhÜ¢÷uõº
	20,000


31.3.03&À AÁµx {v{ø»ø© RÌPshÁõÖ C¸¢ux :

	
	¹.

	\µUS
	25,000

	PhÚõÎPÒ
	45,000

	Á[Q
	18,000

	AøÓP»ß
	7,000


|h¨¦ BsiÀ TkuÀ •u»õP AÁº AÔ•P¨£kzv¯ öuõøP ¹. 3,000; A÷u \©¯zvÀ Sk®£ ö\»ÄUPõP Gkzu öµõUP® ¹. 8,000.

|h¨¦ BsiÀ Cµõ©ß »õ£®/|mh® DmiÚõµõ GÚ Psk¤iUPÄ®.

4. Ravi purchased goods from Balan, the due date for payment in cash was as follows :

	Year 2005
	Amount
	Due date

	
	Rs.
	

	March 15
	4,000
	18.04.05

	April 21
	3,000
	24.05.05

	April 27
	2,000
	30.06.05

	May 15
	2,500
	18.07.05


Ascertain average due date.

CµÂ, £õ»Ûhª¸¢x \µUS öPõÒ•uÀ ö\´uõº, uÁøn |õÒ R÷Ç öPõkUP¨£mkÒÍx.

	Bsk 2005
	öuõøP
	uÁøn |õÒ

	
	¹.
	

	©õºa 15
	4,000
	18.04.05

	H¨µÀ 21
	3,000
	24.05.05

	H¨µÀ 27
	2,000
	30.06.05

	÷© 15
	2,500
	18.07.05


\µõ\› uÁøn |õÒ PnUQhÄ®.

5. Goods sent on consignment 200 cases at Rs. 150 per case. Expenses paid by consignor.

	
	Rs.

	Freight
	1,500

	Insurance
	850

	Loading charges
	250


180 cases are sold by the consignee @ Rs. 250
per case.

Expenses paid by the consignee

	
	Rs.

	Unloading charges
	200

	Storage
	200

	Fire insurance
	150

	Selling expenses
	100


Find the value of closing stock.

AÝ¨¥miÀ 200 ö£miPÒ JßÖ ¹. 150 Ãu® GÚ AÝ¨£¨£mhx. AÝ¨¦|›ß ö\»ÄPÒ ¤ßÁ¸©õÖ :

	
	¹.

	Ásia \zu®
	1,500

	Põ¨¥k
	850

	\µUS HØÖ® ö\»Ä
	250


180 ö£miPÒ AÝ¨¥k ö£Ö|º ÂØÖ Âmhõº. J¸ ö£mi ¹. 250 GÚ ÂØP¨£mhx.

AÝ¨¥k ö£Ö|›ß ö\»ÄPÒ ¤ßÁ¸©õÖ :

	
	¹.

	\µUS CÓUS® ö\»Ä
	200

	Qh[S ÁõhøP
	200

	w Põ¨¥k
	150

	ÂØ£øÚa ö\»ÄPÒ
	100


CÖv \µUS (ÂØ£øÚ ö\´¯¨£hõux) ©v¨¦ GÆÁÍÄ GÚ PnUQhÄ®.

SECTION B — (4 ( 15 = 60 marks)

Answer any FOUR questions.

6. G Transport company purchases 10 Trucks at
Rs. 90,000 each on 1.4.02. On 1.10.2004 one of the Trucks was involved in an accident and is completely destroyed. Rs. 54,000 was received from the insurers in full settlement. On the same date, another truck is purchased by the company for Rs. 1,00,000. The company writes off 20% on the original cost per annum.

Give the Motor Trucks Account for the three years ending 31.3.2005.

â ÷£õUSÁµzx {Ö©® 10 ÷©õmhõº ÁsiPøÍ JßÖ ¹. 90,000 Ãu® 1.4.02 AßÖ Áõ[Q¯x. 1.10.2004&À J¸ ÁõPÚ® Â£zvÀ •ÊÁx©õP AÈ¢x Âmhx.
¹. 54,000 Põ¨¥k {Ö©zvh® C¸¢x ö£Ó¨£mhx. A÷u ÷uv°À J¸ ¦v¯ ÷©õmhõº ÁõPÚ® ¹. 1,00,000&US Áõ[P¨£mhx. A¢u {Ö©® 20% ÷u´©õÚ® Áõ[Q¯ Âø»°À PnUQkQÓx.

÷©õmhõº ÁõPÚ PnUøP 31.3.05&À •iÁøh²® Bsk Áøµ ‰ßÖ BskPÐUS u¯õ›UPÄ®.

7. The following is the Receipts and Payments Account of the Chennai Sports Club for the year ending 31.3.2005.

	Receipts
	Rs.
	Payments
	Rs.

	To Balance c/d
	3,000
	By Rent
	52,000

	  ’’  Entrance fees
	5,500
	  ’’   Stationary
	30,680

	  ’’  Subscription 
	
	  ’’   Wages
	53,300

	      (2003-04)
	2,000
	  ’’   Cricket Bats
	39,000

	  ’’  Subscription 
	
	  ’’   Repairs
	8,060

	       (2004-05)
	1,69,000
	  ’’   Interest
	15,000

	  ’’  Subscription 
	
	  ’’   Balance c/d
	23,960

	      (2005-06)
	3,000
	
	

	  ’’  Rent (locker)
	5,000
	
	

	  ’’  Special
      subscription
	
34,500
	
	

	
	2,22,000
	
	2,22,000


Locker rent Rs. 600 referred to 2003-04 and
Rs. 900 is still owing; Rent Rs. 13,000 was in respect of 2003-04 and Rs. 13,000 is still due. Stationary expenses Rs. 3,120 related to 2003-04, still owing Rs. 3,640.

Subscription unpaid for 2004-05 Rs. 4,680; Special subscription still outstanding Rs. 5,500.

From the information, you are required to prepare Income and Expenditure Account for the club for the year ending 31.3.05.

ö\ßøÚ ÂøÍ¯õmkU PÇPzvß ö£ÖuÀ/ö\¾zxuÀ PnUS (31.3.05) R÷Ç uµ¨£mkÒÍx.

	ö£ÖuÀ
	¹.
	ö\¾zxuÀ
	¹.

	C¸¨¦ R/öPõ
	3,000
	ÁõhøP
	52,000

	~øÇÄ Pmhn®
	5,500
	GÊx ö£õ¸ÒPÒ
	30,680

	\¢uõ (2003-04)
	2,000
	T¼
	53,300

	\¢uõ (2004-05)
	1,69,000
	Q›UöPm 
	

	\¢uõ (2005-06)
	3,000
	  ©møhPÒ
	39,000

	ÁõhøP 
	
	£Êx£õºzu 
	

	  (£Êx£õº¨¦ 
	
	  ö\»ÄPÒ
	8,060

	  ö£mhP®)
	5,000
	Ámi
	15,000

	]Ó¨¦ \¢uõ
	34,500
	C¸¨¦ R/C
	23,960

	
	2,22,000
	
	2,22,000


£õxPõ¨¦ ö£mhP ÁõhøP ¹. 600 2003&04 BskUS E›¯x. CßÝ® ö£Ó ÷Ási¯x ({¾øÁ°À EÒÍx) ¹. 900.

ÁõhøP ¹. 13,000 2003&04 Bsøha ÷\º¢ux; CßÝ® {¾øÁ°À EÒÍ öuõøP ¹. 13,000; GÊx ö£õ¸Ò ö\»ÂÀ ¹. 3, 120    2003&04 Bsøha ÷\º¢ux; 2004&05 BsiØS CßÝ® uµ÷Ási¯x ¹. 3,640.

\¢uõ 2004&05&US ö£Ó ÷Ási¯x ¹. 4,680. ]Ó¨¦ \¢uõ {¾øÁ ¹. 5,500 Á`À ö\´¯¨£h ÷Ásk®.

÷©ØPsh uPÁÀPÎ¼¸¢x Á¸Áõ´/ö\»Ä PnUQøÚ 31.3.05&À •iÁøh²® BskUPõP u¯õ›UPÄ®.

8. The Bharath Ltd., Chennai has a Branch at Salem. Goods are invoiced to the Branch at selling prices being cost plus 25%. All expenses are paid by cheque from Chennai.

Prepare Salem Branch Account in Head Office Books for the year ending 31.3.05.

	
	Rs.

	Stock (1.4.04)
	75,000

	Stock (31.3.05)
	90,000

	Debtors (1.4.04)
	42,000

	Debtors (31.3.05)
	54,000

	Goods invoiced from Head office
	5,46,000

	Rent and Rate
	24,000

	Sundry expenses
	4,800

	Cash sales
	3,24,000

	Credit sales
	2,10,000

	Cash received from debtors
	1,98,000

	Wages paid
	20,400

	Wages unpaid
	2,000


£õµz ¼m, ö\ßøÚ ÷\»zvÀ QøÍ {ÖÁÚ® øÁzxÒÍx. QøÍUS \µUSPÒ AhUPÂø»°À 25% TkuÀ Âø»°À AÝ¨£¨£kQßÓÚ. Põ÷\õø»PÒ ‰»©õP GÀ»õa ö\»ÄPÐ® ö\ßøÚ°À C¸¢x öPõkUP¨£kQßÓx.

uø»ø© PÇP HmiÀ ÷\»® QøÍ PnUøP 31.3.05&À •iÁøh²® BsiØPõÚ PnUøP u¯õ›UPÄ®.

	
	¹.

	\µUS (1.4.04)
	75,000

	\µUS (31.3.05)
	90,000

	PhÚõÎPÒ (1.4.04)
	42,000

	PhÚõÎPÒ (31.3.05)
	54,000

	QøÍUS AÝ¨¤¯ \µUS
	5,46,000

	ÁõhøP ©ØÖ® Á›
	24,000

	]À»øµ ö\»ÄPÒ
	4,800

	öµõUP ÂØ£øÚ
	3,24,000

	Phß ÂØ£øÚ
	2,10,000

	PhÚõÎPÎh® ö£ØÓ öuõøP
	1,98,000

	T¼ ö\¾zv¯x
	20,400

	T¼ {¾øÁ
	2,000


9. The stock of Thiru. Chandran was destroyed by five on 30.1.04. The stock on hand is valued at cost.

	
	2000–01
	2001–02
	2002–03
	2003–04

	
	Rs.
	Rs.
	Rs.
	Rs.

	Opening stock
	
   30,100
	
   36,000
	   40,000
	41,000

	Purchases
	   74,900
	   80,000
	
   81,000
	  6,000

	Sales
	1,20,000
	1,32,000
	1,40,000
	12,000

	Wages
	   17,400
	   19,000
	   20,900
	  2,000

	Closing stock
	   36,000
	   40,000
	
   41,000
	?


Prepare Statement for Submission to the Insurance Company to claim the loss of stock.

v¸. \¢vµÝUS E›¯ \µUS w Â£zvÀ AÈUP¨£mk Âmhx. \µUSPÒ G¨ö£õÊx® AhUP Âø»°À ©v¨¥k ö\´¯¨£kQßÓÚ.

	
	2000–01
	2001–02
	2002–03
	2003–04

	
	¹.
	¹.
	¹.
	¹.

	öuõhUP \µUS
	
   30,100
	
   36,000
	   40,000
	41,000

	öPõÒ•uÀ
	   74,900
	   80,000
	
   81,000
	  6,000

	ÂØ£øÚ
	1,20,000
	1,32,000
	1,40,000
	12,000

	T¼
	   17,400
	   19,000
	   20,900
	  2,000

	CÖv \µUS
	   36,000
	   40,000
	
   41,000
	?


Põ¨¥k {ÖÁÚzvÀ |mh Dk ÷Põ¸ÁuØS ÷uøÁ¯õÚ PnUøP u¯õ›UPÄ®.

10. X draws on Y for the mutual accommodation of both a bill for Rs. 2,000 on 1.2.2000 at 3 months.
X discounts the Bill for Rs. 1,960 and remits half the proceeds to Y.

On maturity X is unable to send the amount due and therefore Y draws on X a Bill for Rs. 2,500 which is duly accepted by X.

Y discounts the bill for Rs. 2,400 and remits
Rs. 200 to X. Before the bill is due for payment,
X becomes insolvent. Later 30% dividend is received from his estate.

Give Journal entries in X and Y Books. Also given X’s account in Y’s Books and Y’s account in X’s Books.

£µì£µ EuÂ ö£Ö® ö£õ¸mk X, Y&°ß «x 3 ©õu uÁøn°À ©õØÓzuUP ©õØÖ^møh ¹. 2,000&US 1.2.2000&À GÊv Áõ[QÚõº. X Aa^møh ¹. 1,960&US Á[Q°À Ámh® ö\´x, £õv öuõøPø¯ Y&US AÝ¨¤Úõº.

öPkÄ ÷uv°À X&°ÚõÀ £n® uµ C¯»ÂÀø». AuÚõÀ Y, X&°ß «x ¹. 2,500&US £µì£µ ©õØÖ^møh GÊu, Aøu X J¨¦U öPõshõº.

Y Aa^møh Á[Q°À ¹. 2,400&US Ámh® ö\´uõº. ¹. 200&I X&US AÝ¨¤Úõº.

Aa^miß öPkÄ ÷uvUS •ß, X ö|õi¨¦ {ø» Aøh¢uõº. AÁµx ö\õzvÀ C¸¢x 30% £õUQ {¾øÁ ö£Ó •i¢ux.

X ©ØÖ® Y HmiÀ ÷uøÁ¯õÚ £vÄPøÍz u¢x X PnUøP Y Hmi¾®, Y PnUøP X Hmi¾® Põs¤UPÄ®.

11. Prepare Trading and Profit and Loss Account for the year ending 31.3.05 and a Balance Sheet on that date.

	Debits
	Rs.
	Credits
	Rs.

	Drawings
	45,000
	Capital
	1,60,000

	Goodwill
	90,000
	Bills payable
	33,800

	L & B
	60,000
	Creditors
	70,000

	P & M
	40,000
	Purchase returns
	2,650

	Tools
	3,000
	Sales
	2,18,000

	Bills receivable
	3,000
	
	

	Stock (1.4.04)
	40,000
	
	

	Purchases
	51,000
	
	

	Wages
	20,000
	
	

	Carriage
	1,000
	
	

	Carriage
  outwards
	
500
	
	

	Coal
	5,800
	
	

	Salaries
	35,000
	
	

	Rent and taxes
	2,800
	
	

	Discount
	1,500
	
	

	Cash
	25,400
	
	

	Debtors
	45,000
	
	

	Bad debts
	1,200
	
	

	Advertisement
	3,500
	
	

	Sales returns
	2,000
	
	

	Furniture
	1,200
	
	

	General expenses
	7,550
	
	

	
	4,84,450
	
	4,84,450


Adjustments :

(a)
Closing stock on 31.3.05 was Rs. 35,000.

(b)
Depreciate :


P & M 10%


Furniture 10%
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(c)
Provide Rs. 1,500 for wages.

(d)
Advertisement prepaid Rs. 500.

(e)
Provide 5% on debtors for bad and doubtful debts.

31.3.05&À •iÁøh²® BsiØPõÚ Â¯õ£õµ, C»õ£ |mh PnUøP u¯õ›zx A¢|õÐUS›¯ C¸¨¦{ø» SÔ¨ø£²® u¸P.

C¸¨¦ ÷\õuøÚ¨ £mi¯À

	£ØÖPÒ
	¹.
	ÁµÄPÒ
	¹.

	Gk¨¦
	45,000
	•uÀ
	1,60,000

	|Øö£¯º
	90,000
	ö\¾zxÁuØPõÚ
	

	{»•®/Pmih•®
	60,000
	  Esi¯À
	33,800

	C¯¢vµ®
	40,000
	PhÜ¢÷uõº
	70,000

	P¸ÂPÒ
	3,000
	öÁÎzv¸¨£®
	2,650

	ö£ÖÁuØPõÚ
  Esi¯À
	
3,000
	ÂØ£øÚ
	2,18,000

	\µUS (1.4.04)
	40,000
	
	

	öPõÒ•uÀ
	51,000
	
	

	T¼
	20,000
	
	

	öÁÎyUS T¼
	1,000
	
	

	EÒyUSU T¼
	500
	
	

	{»UP›
	5,800
	
	

	Fv¯®
	35,000
	
	

	ÁõhøP ©ØÖ®
  Á›
	
2,800
	
	

	uÒÐ£i
	1,500
	
	

	öµõUP®
	25,400
	
	

	PhÚõÎPÒ
	45,000
	
	

	ÁµõUPhß
	1,200
	
	

	ÂÍ®£µ®
	3,500
	
	

	EÒv¸¨£®
	2,000
	
	

	AøÓP»ß
	1,200
	
	

	ö£õx ö\»ÄPÒ
	7,550
	
	

	
	4,84,450
	
	4,84,450


\›UPmh¨£h ÷Ási¯øÁ :

(A)
CÖv \µUS ¹. 35,000.

(B)
÷u´©õÚ® :


C¯¢vµ® 10%


AøÓP»ß 10%


{»®/Pmih® 2
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(C)
T¼ ¹. 1,500 uµ¨£h ÷Ásk®.

(D)
•ßTmi ö\¾zu¨£mh ÂÍ®£µ® ¹. 500.

(E)
I¯UPhß Põ¨¥k 5%, PhÚõÎPÒ «x ö\´¯¨£h ÷Ásk®.

12. What are the differences between Receipts and Payments Account and Income and Expenditure Account?

ö£ÖuÀ ©ØÖ® ö\¾zxuÀ PnUQØS® Á¸Áõ´ ©ØÖ® ö\»Ä PnUQØS® EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ?

——–––––––––
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